% Christmas Order of Operations B ' 3

Tnstructions: Flves liketo vepresent their toym ukingu)ith number problzmsi S0 theggzt zﬂzrgﬂling done in the correct order. Lse the order of

(6+2—4)(7-5)

(246—5)=(10—7)

24+8+2—(9-3)

(21=7-9)x2)=10

9+6+7—-6X2

5%2—(29416)+9

6x(16—1)=(9—6)

operations to complete the questions below.

9—5—(9—(5+3))

8+9°—18=9

3((9—4)Y—10)

((1+14)x3)+(4+5)

4—(6—5-1)—3

(21%2)=(3(9=7))

(13+19—1-7)=8

merrgdhrismm from Moath- Drills.Com

9—6+18+6—1

21+(249—(1+7))

7 +(5-5)

44+9-2+7

1°+4x2—6




% Christmas Order of Operations B Hnswers ' 3

Tnstructions: Flves liketo vepresent their toym ukingu)ith number problzmsi S0 theggzt zﬂzrgﬂling done in the correct order. Lse the order of

(6+2—4)(7-5)

8
(2+6-5)=(10—7)

1
24+8+2—(9-3)

6

(21=7-9)x2)=10

9+6+7—6X2
10

5%2—(29+16)+9
5

6x(16—1)+(9—6)

30

operations to complete the questions below.

9—5—(9—(5+3))
3
8+9°—18+9
87
3((9—4)°—10)
45
(1+14)X3)+(4+5)
5
4—(6—5-1)-3
1
(21x2)+(3(9-7))
7
(13+19-1-7)=8

3

merrgdhrismm from Moath- Drills.Com

9—6+18+6—1

21+(249—(1+7))

7 +(5-5)
49
44+9-2+7

60

1°+4x2—6



